
12

03

BMT, BOLT-ON, DIN69880 HOLDERS

 PORTAUTENSILE PER BARENI  -  TOOLHOLDER FOR BORING BAR

 PORTAUTENSILE PER BARENI  -  TOOLHOLDER FOR BORING BAR

CODE N. D CLAMPING SCREW COOLANT PLUG SEEGER RING FOR
COOLANT PLUG

O RING FOR
COOLANT PLUG

COOLANT 
NOZZLE

115-53024 25 811-102030 823-301270 822-10209 823-101031 833-001110
115-53025 32 811-102037 823-301260 822-10208 823-101017 833-001110

CODE N. STOP NUT INSERT FOR 
STOP NUT

SCREW FOR 
STOP NUT

SCREW FOR STOP 
NUT (M6x6)

SCREW FOR STOP 
NUT (M6X8)

O RING 
FOR VDI30

115-53024 832-003301 832-003302 811-101021 811-102017 811-102018 823-101017
115-53025 832-003301 832-003302 811-101021 811-102017 811-102018 823-101017

CODE N. D CLAMPING SCREW COOLANT PLUG SEEGER RING FOR
COOLANT PLUG

O RING FOR
COOLANT PLUG

COOLANT 
NOZZLE

115-53027 25 811-102029 823-301270 822-10209 823-101031 833-001110
115-53028 32 811-102037 823-301260 822-10208 823-101017 833-001110

CODE N. STOP NUT INSERT FOR 
STOP NUT

SCREW FOR 
STOP NUT

SCREW FOR STOP 
NUT (M6x6)

SCREW FOR STOP 
NUT (M6X8)

O RING 
FOR VDI30

115-53027 832-003301 832-003302 811-101021 811-102017 811-102018 823-101017
115-53028 832-003301 832-003302 811-101021 811-102017 811-102018 823-101017

27.527.5

Ø8
.5

48
���Ɨ����
123

64

D H7

70

Ø8.5

27.5 27.5
48

6070
70

D H7

85±0.02
110


